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And he acquires it even in a public domain - 771 S1R1 23297 NIV

Overview

X127 answered that the 7731 was 71 the 72°13 when he dragged it into the 1"'177, since
7>wn is effective even in a 7"77. This seemingly contradicts what is generally
accepted that 72°wn is not 7117 in a 7"71.! Our MooIn discusses this issue.

mMooIN anticipates a difficulty:
= (3,79 x9M3 N32) NI290N HN 939902 9IRT N

And this which the X773 states in 7719997 NR 99927 P79 -
= £5390 MY NP RY N9IUNT 1791 Y9INRT NAT) aANT

That X291 9928 both maintain the 772°w% is not an effective 1912 in a 9''779; this seems
in disagreement with the view of X1°27 here —

mooIn responds:
= 1P0IN 2NNND 1D 1997 2PT MMINPT NNT RINT NIAVIN 2909 NIT PNHNY 13929 9N

The >''9 says that X271 »2X are not arguing on the ruling of X129 here, for this
which X127 stated that the 213 is 712 in the 7"77 with the 72°wn, that is only

regarding that the 213 is liable for any mishap that may happen to this item -
= 2591939 1HY NAYY NP 1IN DAN

However the 213 does not acquire it that it should be completely his, since 7>°wn is
not 7"772 Inp.

mooIn presents a dissenting opinion:
— (WY K,VY 97 XHP N32) 2IINA RAT NPT 1T AN DHYAN 13 PNYY 13939

However, The view of the X''2%%9 is that X127 argues with X327 »2X, for in p7d

721 -
- IND PTPTAY 19 DTIY 333 IO *ROYD 5INPT 133 M19aY 373n) %3)

Regarding the case where he gave it [the animal] to redeem his firstborn son,
where the X220 (of that 7awn) stated ‘and if he was pulling it (the animal) and it died
in the domain of the owners, he is MWo’; regarding this X5°0 we can also make the

!'See the X3 previously on this 71y where it asked; X2°% 72°23 TOR 121 7"77% PORT R (see MO 7"7 2"'wA).
2 The >"1 maintains that X1°37 agrees that one cannot acquire an item that it should belong to him, through 7>°wn Pip
in a 1"71. However once the 213 drags it out 2°2¥»n MW into the 1", he becomes liable through the 72°3 *13p and
must repay the owner the value of the stolen item even if it became destroyed through an 011X (an unavoidable mishap).
3 See mooON later as to who gave it away 112 MM337 (the owner or the 213)
4 The X0 there is exactly the same as the X1 there, which is quoted here in our X713 in regards to the answer of X3°27
that "0 2°%¥2 MWD NP1 RE™Y DYV 77T
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same inference there, like we are inferring here (namely w217 877 ,0°%v2 Mwa2 N7 XPYY
21 N o°hya Mwan), which would indicate that 72°wn is 2"A72 P -
= 59900172 OV WYY PYNI PYIY 599N PIPT NIOWUN Iy 0N

And there (in p"2) we are discussing a 72°w» for a 1P, according to the first

version of »'"'w=p there -
= (x,n0 97 N92)2 7001 N XN %Y PYHY 159N

And even according to the second version of >"w75 (where we are seemingly

discussing 7213 °11p),® nevertheless it is evident there in the X923 -
$19375 AMNNIN N9PUNA NIN 2NNNY 2399 PRY

That the 213 should not be liable unless the 170 makes a 79w which is fitting to

be 1132; this proves that X1°27 argues on X2 »axX and maintains that 1"772 7>°wn is M a 1P
A,

Summary
The "9 maintains that X127 agrees that 7"772 72°wn is not ANP a 73 1P, only

1012 210777, However the X"2¥>1 maintains that the P17 of X1°21 indicates that he
maintains that 7"7792 72°Wn is 73 PP "3Ip.

Thinking it over
How can we explain the npyonn between the °"9 and the X"2x¥>, whether one can
differentiate between Po1R2 21077 1717 and 12w XW 11 (the "), or not (X"2x)?°

5 See >"wA there 1101 17", where *"wA in the first w5 explains that the case of 112 MM32% 111 is (not discussing a 1713 at
all, but rather is) discussing a case where the father of a 9131 gave a 372 an animal (worth 2°¥90 1) to redeem his M32.
The 175 was taking the animal out of the 2°9v27 mwA. The niwn states if he dragged it and it and it died 2%y nwn3,
so the 373 never acquired it (because there was no 7777237) and 72°wn is not 2°9v2 NWw"2 1P, therefore the owner is still
obligated to be 779 his M3, since the 175 never acquired the 0°w%0 1. We can infer there, as the X3 infers here
(according to R1°217) that it is only if the animal died 2°2y2 w2 that the 375 does not acquire it, however if he pulled
it out of the o°2¥2 mw [into the >"717] he will be 7P (and the owner will have paid his 727 1°79). We therefore have
inferred that 73°wn is 2"772 7P (according to [the P17 of] X127, not only PoNR 2°1N7 but also) ™Mx? W RTW 1IWS.
6 See *"wA there that the XX RIw>2 maintains that the 213 gave the animal to the 373 in the 2°%v2 mwA for 1277 77,
The 772 then dragged the animal out. The same rule and the same inference applies that if the animal died while it was
still in @°%v2 mwA, the 213 is Mwd (the 372 had no idea that it was a stolen animal), however (the inference is that) if he
dragged it outside the 2’2y mwA [into the 7"717] the 213 is 271, because the 172 acquired it, therefore it is considered as
if the 213 stole it and the 3772 acted (sort of) as his 7°%w (see *"w there Mo 73"7)..
7See W 71"7 X,LY P"2 '0IN who writes; XIR 27777 K27 ¥awn ,1°37 1970721 11 133177 R2X *9 7K 213 923 (L0 A7) D7 110wa7n
77200 (LY A7) PO IPWITT 020 00 N1Iph IROW opna.
8 Therefore the proof is not that obvious that according to X1°17 he will be 72°wna AR a M 7°Ip.
® See 3% MX 717 N30.
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